Yhgpnpn nuuwpwith Udwptught wojuwnuip

Uuypkh puippwn %. ghpp

Yuiph) Up dtnpp ke 122-127

e Uwhnit jupnuy i hwuljiw) yuwndniphiip
e £ umbkwnpuly

Lo 68 - U. twuth qunh p nt gpt’ hnbtbwjubpnih
hwljwmtthptubpp (antonym):
£, Munwupwbl, nputugh wnwbuu Yuphy Up
Utnpp gqpmipbwi wdthnthnudp (summary):
Iukupn (U. wu) Ly 144-147

o Uwhnit jupnuy Et hwuljuw) yuwndniphiup
e £ wubkwnpuy

Lo 94 - U. Munwupuwik 1 - 4 hwpgnidubpni:
£. NMunwupiwbl hwpgnidhi qpipny dh putth
pwith twppwnuuniphti:
ukupn (F. dwu) kp 149-150

o Ugquu puptpgnid (Jupnuy)



Lhpwljwinmphib

e P.ubkwpul ke 15 - 3. Apk hbnbikwy punkpnit hndwihoukpp
B. Qpt’ htnbibw) punkpnit hndwhoubpp

E9 20 - U. Cpowgdt wyli wpdunnikpp, npniip Yplwt
gnpoéwodnih] hppbit wnwudht puntp:

* . .
The bellow two pages are extra exercise if you want do. Do as much as

you can.
*k9 52 - k. Lnist wdwiguiinp punkpnt guiigp: (they are
prefix and suffix word puzzle e.g. #11 plum tree
will be uwnpkh)
k9 53 - U. Qpt” hhwnbibwy unkpni gluwghpibpp:



